6.2.3 JLKTFEHIrHIR

1. y" = f(x)

1l T e
—— A

2. y”= f(xay’)

3. y'=f(y,)y)




= f(x) &
Bl1. RFE y" =™ —cos x.
i y"=j(e2x—cosx)dx

1
—e** —sinx + C|

2

1
y = " e’ +cosx +Clx+C,

1

Y= gezx+ sinx + C1x2+ C,x+C,

(ﬁﬂq:z

1

Cl)

BT e % -
Naniing University of JPosts and Telecommunications




Ly = f(x) BIRYRRE
B AME n-1 2
Y = fodx+C,

EAE D) =J‘[_[f(x)dx+C1]dx+C2

|
N

=I[j f(x)dx]dx+C1x+C2

n KRG, IIRE n MERHE BHEMRE .




2. "= f(x,y) B Gy

BV =px), W y"=p', BEHBRUA—HHE
dp

E — p’ = f(xap)
7 He | p=9(x,C,)
£l Yy =p(x,C))

1 — X, BIRFERER
y= j¢(x,C1)dx +C,

KB+ xP)y"=2xy" = 1+x)()) =2x)"




1 2 n=2 ’
%3.5%@{ (I+x%)y"=2xy

x=()=3

A4 x=0=1’ y’
ﬁg: y'=p(X), )I]lj y”:p', ﬁ)\ﬁﬁ@
sExE dp  2xdx
p (1+xY)
?Rﬁ}?%ln‘p‘=ln(l+x2)+ln Cl‘, Ellp=C1(1+x2)
FA y|0=3,18C =3, TRHE )'=3(1+x")
FMERNE y=x" +3x+C,
FIH y| 0 =1, B C, =1, FIFTREEEA

y=x3+3x+1

(1+x%)p' =2xp




3. .V"=f(.)’,y') 7l {]ﬂ{//l\x

= " dy' _dap
o U - _Tr _ . =p
2y =pW), Wy L= =ry,

WT RN AN p——f(y,p) BEEEN p=0(,C)),

E|]J’=¢(y,C) = dx,
ﬁg&ﬁ o(3,C)

{%ﬁﬁ%nmﬁ% I ( C)_X+C2
P,

fm: SRR yy" -y =0
Y RETF <R T R, AR CERET
ym@ﬁ £y = p()H, yRHFIRE

6




Fla. Rfg yy"—y"=0.

> ! d dpd dp
%:‘& — . I‘" "= p= p y — r
y=pW), Wy 1y dydx P 2

RAGESR y-pj—i—pz =0,

B pz0 (ERMEy=0) N dlf = dyy
B4 In|p|=1n|y|+1n|C,|, B} p=C,y,
V=Cy @MHBEZEIE)
BMPTRBEMRN y=C,e™"

H:Xcl = O,WJ@,V = C2’ *‘2 H %5’%%%

G B2 HELEF




yn_eZy =0

f515. ﬁ%ﬂﬁl‘ﬂ%ﬁi{ = =1

R4y =p©), )JJy"—p WP A
pdp=e*’dy
Bl P =3¢ +C
FIFWIEEAE, B C, = 0, Ll p = o= p=1
R
?Fx'ﬁ’?vgr—e_y=x+C2, ¥ ,V‘x=0=0, BcC,=-1
WA REFEN l—e? =x




A] FEB B = B i 75 AR IR
— &Mk
Ly =f(x) zu#s
2. Y'=f(x,)) @by
b 3= pe), By
3. y” = f(yay’) Fhb x
4y =py), mﬂy"=pz—§
4. Y'=f(¥) B x, Xy
LY =p(x)E Yy = p(y)




	幻灯片编号 1
	例1. 
	幻灯片编号 3
	幻灯片编号 4
	例3.求解
	幻灯片编号 6
	幻灯片编号 7
	例5.解初值问题
	幻灯片编号 9

